Exothermic Reactions
For exothermic reactions, solubility ____ as temperature ____ 

Endothermic Reactions
For endothermic reactions, solubility ____ as temperature ____
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Henry’s Law- Gas Solubility
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Hydrochloric acid is sold as a concentrated aqueous solution. If the molarity of commercial HCl is 12.0 and its density is 1.18g/cm3, calculate the following:
a) The molality of the solution

b) The weight percent of HCl in the solution
Raoult’s Law- Vapor Pressure Lowering
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Example: 

The vapor pressure of water at 20 oC is 20.1 mm Hg. What is the pressure of 100 g water mixed with 100g ethylene glycol, C2H2(OH)2?
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